¥ s
(f’/uﬂw’(j/ !/b/)&/t'rdli.zu
v

iranbmeclub.ir

520
2

( alfgl S guige o8Il S

Z AAF IS A Gt o S
ré
L

$

33
U L\_,'V\_/\J\J\J

O S 3 wigo ol

S598 99 38 oliulo T 415 y giwd

3o B Cpmowl) 3 vy

S S g 15 — (S ) mage |55




Y. .
Frrdy T S st iranbmeclub.ir of 2 S 3 (weigo oL

r\;ﬁa)gjﬂ\ujﬁdjﬁﬁﬂe ........................................................................................... J_g‘ u‘*’."‘)T
(N3 558 5 O SLBurrrrrreeeienineeenee e sesesees iR 033 5T
o1 8 520 5 5N JUE i 5 BB st o3 ileT
J.Ajmw‘jwiﬁw ................................................................................................................ (’)LG'?U;?’-LA)‘

O s le 9 0 55 ittt ettt bbb bbb r.wmbjT
157 S35 gl 5 S0t s i lesT




¥ . . . . . s
FAGL G Tt Yoot iranbmeclub.ir of 2 S 3 (weigo oL

A (S350 38 b S LAT 1 e 05l slo3T @

W7y S0 Jolss 9 085 Ol > oot S 4ty § (590 — o i b (LS TE alo T S
B 0g3T

el oS G484l 43 8515 S Al ez o0 0SS e s plb sla Sy Bl Sl 0Ll 8
j\65‘)}3&‘9]9.J‘)\J_)‘J;@\Jé4.2:..»MLgo‘)‘ﬁbWQQTJ‘Jj&B@wéo)|ﬁbéjﬁ3)QT

iy gr ST 5 G5 Slaplibl 5 (SCh et 4 (038 5 4y S o et S

Q\;"Jq-)"l.ﬁ%)J.gﬁ&bc&g—}':ﬁbcwbJ@c@b}#:l@‘oﬁ‘}@y‘ck)%ﬂ&
S on (6,8 Sl B s e 4 0T Sl 5 0 e Sns




B
U{/U/ ,J#d‘/‘!:b/)&/(/db//)
v

CAM)') },Q.ID)

iranbmeclub.ir of 2 S 3 (weigo oL

Superior vena cava . Left pulmonary artery

Right pulmonary artery Left atrium

Pulmonary trunk Left pulmonary veins

Right pulmonary

veins Mitral (bicuspid) valve
Right atrium .

: Aortic valve
Fossa ovalis
Tricuspid valve Pulmonary valve
Right ventricle Left ventricle
Chordae tendineae Papillary muscle
Trabeculae carneae Interventricular septum

Epicardium

Moderator band —~ 2 A : Myocardium
Inferior vena cava Endocardium
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m Exercise 5: Cardiovascular Dynamics > Activity 4: Studying the Effect of Blood Pressure on Blood Flow Rate

Overview Objectives Introduction Pre-lab Quiz Experiment Post-lab Quiz Review Sheet Lab Report

1. So that you can study the
effect of blood pressure on Pressure (mm Hg)
blood flow rate, maintain

the following conditions of ‘ 100 |
vessel radius, viscosity, and
vessel length throughout
this activity:

)i

Radius: 5.0 mm
Viscosity: 3.5
Length: 50 mm

Note that the pressure is set
to 25 mm Hg. Click Start
and then watch the fluid
move into the right beaker.
Pressure propels fluid from
the left beaker to the right
beaker through the flow
tube. The flow rate is shown

Start

F— F—
in the flow rate display after Flow rate (ml/min) Radius (mm) Viscosity Length (mm)

the left beaker has finished ‘ 3.0 3.5 B 50 B| +

draining. r - —
Flow rate (mlimin)  Radius (mm) Viscosity Length (mm)  Pressure (mm Hg)
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